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program sum;
var start_x, step_x, X, y:real,

var i.integer; 8 “ " -
begin F—T—BDNoD
write('Please Enter start_x:'); / 7:_9@51%37&3775
readIn(start_x); 17D CWLBED
write('Please Enter step_x:');
readinstep )i | HEOROELE
fori:z=1to 20 do — gﬁ—_j—Cb\gxnzBﬁ
begin
X :=start x+ (1*step_x); _ .
y ;= sin(x); - |EH| [5 /\@T:g@
writeln('sin(*, x:8:3, ') =, y:8:3); ‘[ EFHUZITDOTLY
end; 5%5%
readin

end. 2



Bl 1 DTOT S LRITHRR (1) 5.

» [@0sbun | Wsep ERSRNEN M swe

sum
start _x, step x, x, y:ireal
iinteger

write( '’ :

readln(start x)

write('P e E

rcadln(stop x)
1:=1

X start_x + (i
y sin(x)
writeln( 'sin('

readln




BB 1 DT OO0 S LDBEEE

1.

IRD 2 DB FidH+HAD
start_X, step X

. STEDEDIRU

F—/R— RS DFT—HF DA

sin( x) DEt&%Z 2 0[@§ENDIRT

X = start x + step_x,
start x + 2 Xstep X,

start x + 20 X step X

. BIENDT—YDEZTHU

~

. 2 0815

J

sTEUTC sin(x) DIEZEEL
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CNBEORE 8

Hlea 1. % bRt
TUHIER

HlE 2. =AZ0mEE
TN NREBDEE, A, hX,

RAN
write X & writeln SXDIELY
- [TO0SLDEDDDreadin | DHLEE
IR 3. sin BZRIC KD =EFDmta
BlEE4. ST JEEK
- BRDSA TS UEE
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® IlLanguagel & AT, [Pascall -

Slack — Bring your team together with Slack, the collaboration hub for work.

int main()

{
("Hello World"

HTML,JS,CSS
Ruby

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite




EITRY >

—

T >« ~IHH

j— 54 program el
AR i s 0 | .
%31&25:&: ' writeln ('Hello World')

hTED

Copyright

Target 0S:

Compiling main.pas

Linking a.out

/usr/bin/ld.bfd: warning: link.res contains output
12 lines compiled, 0.1
Hello World

sSec

...Program finished with exit code 0

Press ENTER to exit console.
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- HHETERtZERDDI IOV S L%ZESD
- il FTY)ETRE UIRSDTTROBRTE T IR Z3KeD D
«c BHIRE g($9.8 293
- BERE T iERtZ kDD IEHI(C, O LRIC, 5tE
™ y:=(9.8/20)*x*x ZEL
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program sum:; {

var start_x, step_x, X, y:real;
var i:integer; F—Mh— RHQrs5m
begin ?_gd)u/bafl_ajj?l’
write('Please Enter start_x:"); / 17O CUL\NBE T
readin(start_x);
write('Please Enter step_x:"); _
readin(step_x); EIE@:%?E Nk L%
fori:=1 to 20 do 11D C\\BEkD
begin
X := start_x + (i * step_x); - HREZ TESOT
y :=(9.872.0)*x *X; I
writeln('x=", x:8:3, ', y=', y:8:3); [f—— [BEA\DT—SD
end; =S ULZITO>TLY
readin A

12

end.



EiTraRbl

Enter start x:0
Enter step x:0.1
.100, .049
.200, .196
.300, .441
.400, . 784
.500, .225
. 600, . 7164
. 700, .401
.800, .136
. 900, .969
.000, . 900
.100, .929
.200, .056
.300, 8.281
.400, 9.604
.500, 11.025
. 600, 12.544
.700, 14.1el
.800, 15.876
. 900, 17.689
.000, y= 19.600 13
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AW WwWNNRERE R OO OOl

0
0
0
0
0
0
0
0
0
1
1
1
1
1
1
1
1
1
1
2
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BB EETEHRMAAT, MEEAEID I TO0
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- [KiD, B, ERZIRDIZHI(C, FEVNR[ED
Z#x 3DMED
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X

program sum;

var teihen: real; §
e o el NVANSIO
var menseki: real; T — S DiedrIAFH 7

begin /’jfi") TWLBa7D
write('Please Enter teihen: ');

readln(teihen);
write('Please Enter takasa: ');

readln(takasa); e =Azomiao

menseki := teithen*takasa*0.5;

var takasa: real;

writeln('menseki =', menseki:8:3); @_'_/\O)j— QO)
readin EZHULZITDTLY
end. 5I|:|i|3§ﬁ~

16



EiTiasRIEmE (f))

Please Enter teihen: 2.5

Please Enter takasa: 5
menseki = 6.250

17



J0O0 35 LETIE 5.
x \\J t — y FETeen At
[ 'Please Enter teihen: | Z&RR

write('Please Enter teihen:");

l

readIn(teihen); PRSP BT — I & IRIIAH
l Ayvt—>

write('Please Enter takasa: ');

l

[ 'Please Enter takasa: | Z&RKR

readn(takasa); BN R T — & RIPAS
menseki ;= teihen * takasa * 0.5; E'l'%i
writeln(‘'menseki =', menseki:8:3); E'I'%ﬁ%&ﬁ?]_'\

l

readln ##OD

18




JOUSLET—H

@

readin(teihen);
ZE)NA DT —HERIIA
@

readin(takasa);
{@?E]Jl]\%&#—ii&?‘—’sf & 5dPA Gy

XU

tethen|-

©) takasaﬂz
menseki ;= tekhen * thkasa * 0.5;

=] *mensek

3 DDZEE

" writeln(‘'menseki =', menseki:8:3);

STERRZRTR
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EHES {;
- TEE, F—IEANDBIEHDATE

- BHEEL(F, B &ESEHIC, AmtBzE
WC, ZHDEAZIE1I—FICEBERADL

var teihen: real: } S\ — 5T, 2 Tteihen)
var takasa: real: } B\ T — T, T Ttakasal
var menseki: } BT — T, ZEE(E Tmensek

real: et
[real] &I, FEVNE=ET—5

& NS E.
- 20



AKX 5.

iR Tenne

« STEMEER (teihen*takasa*0.5) %, Z# menseki
([CA&NT D (ChEZ, RAEWLD)

=1 (&, RKADEEK

menseki := teihen*takasa*0.5;

21
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* AJJ
« T—HDFHAH
(BEAHAFENTET —F (FEL AN ETND)
e readin XZ{ED

* 173
» Ay - OFRR
« T—IDER

o (BRUTHBNENTZT —INERRETND)
- NOETBEEREDER R (K 4 =H8)
e Write & B U\ writelnSZ{ES
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readln

program sum;
var teihen: real;
var takasa: real;
var menseki: real;
begin
write('Please Enter teihen:');
readin(teihen);
write('Please Enter takasa: ');
readin(takasa);
menseki := teihen*takasa*0.5;

writeln('menseki =', menseki:8:3);

readin
end. \ F—M— KD [Enter] F—
ZFD 23




ATIX

c ANX(E, T—HERIIALTZHDX
» THAHADONRESEHBAZIEE

readln(teihen);

SLAHADNEEEEG
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*

oy =T

iR Tenne

- BN, T—IPAYE—SEBRRIT STHD

X
 Avt—>8nE, BEEMD= [, 1 T
c BHC, EXNZHITD

X)) D

= [ :8: 3] OFKR: 8#1C, /NHRLUF 3MIFR

7IN

7

Awyt—=

B

writeln('menseki =', menseki:8:3);
‘ RRINE BN
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write('Please Enter teihen: ');

Awtz—=> [Please Enter
teihen: ] OFrx (ERITHEL)

writeln('sin(’, x:8:3, ') =', y:8:3);

[sin( 0.800) =

0.717]

DEDIC, KAw-

0 — S EHOD

PEZMNTCERR (BUTHD)
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write & writeln MIEL

« #EEE (B U

WLV AERU

« RRDEICHUTIT DN UIRVLDEZITHED
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BIRE 3. sin BEIC LD =AFOHEE 5.

i hedre v gl

AAT, HE S Z8 I3 T7005 L% ED

. EIEERDBEDHIC, sinBAEEFES
« HEZET=3.14159 &~ 9 B
1 i
S = E absiné
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program sum;
var a: real;
var b: real;
var theta: real;
var S: real;

begin

X

F—RK— R s5m
F—A DI %
/ 17D CTL\BED

write('Please Enter a: ');
readin(a);
write('Please Enter b: ');
readln(b);

readln(theta);

write('Please Enter theta: '); =AROEmEDOR

~

| S:=0.5*a*b *sin(theta*3.14159/180.0),

‘ writeln('S =', S:8:3); \

readin

end.

BEADT—D
EFHUZTDOTLY
DERD 29



EiTraRbl

Please Enter a: 10
Please Enter b: 6

Please Enter theta: 30
= 15.000
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program sum;

uses Math;

var x: real,

begin
write('Please Enter x: ');
readin(x);
writeln(‘exp(x) =', exp(x):8:3);
writeln('Ln(x) =", Ln(x):8:3);
writeln('sqrt(x) =', sqrt(x):8:3);
writeln('ArcCos(x) =', ArcCos(x):8:3);
writeIn('ArcSin(x) =', ArcSin(x):8:3);
writeln("‘ArcTan(x) =', ArcTan(x):8:3);
writeln('cos(x) =', cos(x):8:3);
writeln('sin(x) =', sin(x):8:3);
writeln(‘tan(x) =', tan(x):8:3);
writeln(‘abs(x) =', abs(x):8:3);
readin

end.
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EiTraRbl

Please Enter x: 0.5
exp(x) = 1.649
In(x) = -0.693
sgrt (x) = 0.707
ArcCos (%) = 1.047

ArcSin (x) 0.524
ArcTan (x) 0.464
cos (x) = .878
sin(x) = .479
tan(x) = .546
abs (x) = .500

33
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writeln('sqrt(x) =', sqrt(x):8:3);

sgrt (x) = 0.707

DEODIC, Avt—ILERER

Z i N TR
—  [:8:3] (&, 5TEEEREZ=8#1C,
INSR LT 3MRREVWSER
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=541 0SS
« 182X, XN, ¥ AR
e exp FEZ5EEEN (eDzER)
e Ln XEXEEEN ([EZeL I DEAXTEN)
- sqrt AR
- Power(x,y) ANZTHE (XDyE)
- — AKX
e ArcCos W 151>
« ArcSin @S>
« ArcTan 5> 1>

e COS 51>
e sin 1>
e tan ST
. FEXTE
. abs “osHE 35
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y :=sin( X);
sinx Z51T8 U, y ([CHSHR
y = sqrt( x);
VX ZETEL, vy (T8N
d:=sqrt((x*x)+(y*y));
VX2 +y2 ZE5t8 U, d (T8
x:=sgrt(a*(a-b)*(a-c));
Ja(a-b)(a-c)ZzstE L, x (CH%HH
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ZEtE 923700 S LZEDIRE0N.
« HeronO LW zZHWS 2 &
A=./s(s—a)(s—b)(s—c)
s=(a+b+c)/2
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